Find the missing numbers

= + 90,000 + 600 + 9,000 + 8 = 99,638

2 + 100 + 90 + 4,000 + 8 = 64,198

¥ 20+ 50,000 + 400 + + 3 = 56,423
“ 0+0+900+5,000 + = 45,900

% 6+ 700+ + 10,000 + 70 = 16,776
% 2+80+ + 6,000 + 90,000 = 96,782
7 90+ 30,000 + 600 + + 5= 33,695
® 5+ 800 + 8,000 + + 90 = 48,895

® 6+ 600 + 6,000 + 20 + = 96,626

® 50,000 + 800 + 40 + + 8 =55,848

Find the value of the underlined number.
a) 23,464
b) 4,701,294
c) 387,462
d) 108,382
e) 73,481
f) 4,361,268
g) 9,238,479
h) 77,376
i) 56,283
j) 1,938




